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Right: 4000 CRC Wrong: :Tx/Rx_Stub[3993/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0] ,Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, total_cnt:800169, total_wrong:0,time_elapsed:3.
Right: 3999 CRC Wrong: :Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, t: , time_elapsed:3.
Right: 4001 CRC Wrong: :Tx/Rx_Stub[3994/0]1Tx/Rx_Traffic[6/0]ETH_REV/SND/ERR[6/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[@] avg peer-to-peer trans delay[0.000000]ms, , r time_elapse
Right: 4000 CRC Wrong: :Tx/Rx_Stub[3994/0]1Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[6/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, . time_elapse

: 4000 CRC Wrong: :Tx/Rx_Stub[3993/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, ,time_elapse;

: 3999 CRC Wrong: :Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[@] avg peer-to-peer trans delay[0.000000]ms, . r time_elapse

: 4001 CRC W : :Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0] ,Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms,

: 4000 CRC : :Tx/Rx_Stub[3994/01Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.0000001ms,

4000 CRC Tx/Rx_Stub[3993/0]1Tx/Rx_Traffic[0/0]1ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[6/0] ,Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000Ims,

3999 CRC Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[6/0] ,Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms,
4000 CRC Wr Tx/Rx_Stub[3994/0]1Tx/Rx_Traffic[0/0]1ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0] ,Rx_Cnt[7999] Dagc[0] avg peer-to-peer trans delay[0.000000]Ims, — , _wr ime_elapsed:3.
1612 CRC W L2:Tx/Rx_Stub[3994/0]1Tx/Rx_Traffic[0/0]1ETH_REV/SND/ERR[0/0/01PHY_Tx_Lst[0/0],Rx_Cnt[8001] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, : . 9:2388, time_elapser

© CRC Wrong :Tx/Rx_Stub[3993/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[@] avg peer-to-peer trans delay[0.000000]ms, total_cn 388, time_elapsed

CRC Wrong: 4 :Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[@] avg peer-to-peer trans delay[0.000000]ms, r 0388, time_elapse
CRC Wrong: :Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, . 4388, time_elapse

CRC Wrong: :Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/6]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, 8388, time_elapsel

= {_REV/SND/ERR[8/6/0]PHY_Tx_Lst[6/0],Rx_Cnt[8000] Dagc[®] avg peer-to-peer trans delay[©.000000]ms,
CRC Wrong: :Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0] ,Rx_Cnt[8060] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, . _wr 0388, time_elapsel
CRC Wrong: :Tx/Rx_Stub[3994/0]1Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, . 4388, time_elapse:

0 _
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] _
© CRC Wrong: 4 :Tx/Rx_Stub[3993/0]1Tx/Rx_Traffic[0/0]ETH X
: @ CRC Wrong: :Tx/Rx_Stub[3994/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[@] avg peer-to-peer trans delay[0.000000]ms, B 6388, time_elapse:
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0 _

CRC Wrong Tx/Rx_Stub[3993/0]Tx/Rx_Traffic[0/0]ETH_REV/SND/ERR[0/0/0]PHY_Tx_Lst[0/0],Rx_Cnt[8000] Dagc[0] avg peer-to-peer trans delay[0.000000]ms, total_cnt:880168, total_wrong:38388,time_elapsed:4.
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